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Aufgabe 1.

a) f ′(x) = 7(x2 − 1)6 · 2x b) f ′(x) = (2x3 − x)(6x− 1)

c) f ′(x) = 3(t2x− 4x)2(t2 − 4) d) f(t) = 3(t2x− 4x)2 · 2tx

Aufgabe 2.

a) f ′(x) = 2 cos 2x b) f ′(x) = − sin(x2 − 1) · 2x

c) f ′(x) = 9 sinx · cosx d) f ′(x) = −2 sin(4x− π)

Aufgabe 3.

a) f ′(x) = −6e−3x b) f ′(x) = −2x · e−x2+1

c) f ′(x) = − 1
x2 · e 1

x d) f ′(x) = a · eax+b

Aufgabe 4.

a) f ′(x) = 2(ln(x)− 1) · 1
x b) f ′(x) = − 1

x

c) f ′(t) = 2x
2tx+5 d) f ′(x) = 2ax+b

ax2+bx+c

Aufgabe 5.

a) f ′(x) = (2x− 1)−
1
2 b) f ′(x) = 1

2 (t
2x3 + 2t)−

1
2 · 3t2x2

c) f ′(t) = 1
2 (t

2x3 + 2t)−
1
2 · (2tx3 + 2) d) f ′(x) = 3

2 (7x+ 1)
1
2 · 7

Aufgabe 6.
a)tanx = sin x

cos x :

f ′(x) =
1

(cosx)2

b)(u(v(w(x))))′ = u′(v(w(x))) · v′(w(x)) · w′(x):

f ′(x) = 7(sin(2x))6 · cos(2x) · 2

c)xx = ex·ln x:
f ′(x) = (lnx+ 1) · ex·ln x

Das war gar nicht schwierig!
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